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PART—I / wwi—I
CHILD DEVELOPMENT AND PEDAGOGY / Tl faeh® 3R Torgm -9

Directions : Answer the following questions

by selecting the co
. rrect/most a
options. ppropriate

1. W}'lich one of the following is a géod
example of ‘gcaffolding’ (learning of a
problem-sol_vmg task till the student is
able to do it by herself)?

(1)

Offering a reward for solving the
problem quickly

(2) Tel.ling her that she can do it by
trying again and again

(3)

(4)

Providing a half-solved example

Telling her she cannot go home till
she solves the problem

2. Your.class has learners with different
learning styles. To assess them, you
would give them

(1) a uniform set of instructions and
subsequently label the children
according to their marks in the test

(2) the same set of tasks and tests
(3) a variety of tasks and tests

(4) the same time to perform on the
tests

3. Nowadays, there is a tendency to refer
to ‘wrong concepts’ of children as
‘alternative conceptions’. This could be

attributed to
(1) children’s understanding being

nuanced and their being passive in
their own learning

recognition that children are
capable of thinking and their
thinking is different from that of

adults

(2)

using fancy terms to describe

children’s errors

children being thought of as

adult-like in their thinking
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4. Which one of the following best 4, TreAfafem § o #3-m vF greawes nem

describes o teacher's role in a middle F4-%4 8 Tnax Wfﬂ'ﬂ E2 uim/zfza

nchool classroom? Euciezo A

(1) Discouraging multiple perspectives ) N f 2
and focusing on uni-dimensional (1) 7"7-';'1'{ i o =
perspective UF.- AT A T FA

(2) Uning PowerPoint presentations to (2) =R Z3 F fAv etz SHem =
pive lecturen T '

(3) Providing opportunitics for

discussions 3) A F ATET A T

(4) Promoting students to compete

amongst themselves for the first (@) ym e F fm fvaidn #oarm A
position yfaers F fam =g Z3
5. Which one of the following statements . e o ..
about motivation and learning is 5. Afym #n i ’_’ an & fa=fafaa 7 &
correct? FH-H UF F44 T 27
(1) Motivatign does.not have any role (1) s 1 1 £ =1 ,- T w
to play in learning. o I
(2) Learning is effective only when (2) @Al Faa of g 7 2 F= e

the students are motivated using

A TEEE F T F1 E IRE A
external rewards.

(3) Learning is effective only when (3) ?fw m amuma‘lm% e faidai
the students have intrinsic q fiif om A F1 HAaffed =31
motivation—a desire to learn from 7l
inside. 5 - .

(4) Learning is effective only when ) :gﬂrqﬁz%\i%m mﬁ :m—ﬂ; g‘?ﬁﬁ
the students are extrinsically < ‘ o A
motivated—motivated by external |l
factors.

6. Which one of the following statements 6. W@ % am § Frfafes Fa4 § 8 #9-W

about learning is correct? wa B

(1) Learning is a passive receptive (1) Hram v Ffer mgowia afwmn )
process.

(2) Learning does not depend on (2) HEm foandi % g8 79 ® st T4 R
learne.r’s pre\lfious kno?vledge. (3) ; : e 3

(3) Learning is equivalent to

acquisition of skills.

(4) H@Ea F anfa Grand givn 34 3
(4) Learning is facilitated by social

actions.
7. Fafafag 4 ¥ FR-d e ety
7. Which one of the following is an T & GhEd & T wem T 27

important activity to enable children to
learn? (1) gm&=n
(2) Dialogue
(3) Lecture (3) =
(4) Instruction (4) FEm
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8. Which one of the following statements
about development is correct?

(1) Development proceeds from birth
to adolescence in a forward manner
and then it goes backwards.

(2) Developmental changes go forward
In a straight line.

(3) Development occurs at a different
rate among different individuals.

4) Development occurs at a very fast
pace from birth till adolescence and
then it stops.

9. Middle childhood is the period from
(1) 10 years onwards
(2) birth to 2 years
(3) 2 years to 6 years
(4) 6 years to 11 years

10. “En\-‘i.ronmental factors do not play any
role in shaping an individual, since
gro“(th of each individual is determined
_by his genetic makeup.” This statement
is

(1) incorrect, since there have been
several researches to prove that
environment can have a major
influence on development

(2) correct, since genetic makeup of an
individual is very strong

(3) correct, since there have been
several researches to prove that
genetic material alone predicts an
individual’s development

(4) incorrect, since environmental
factors contribute little in an
individual’s growth and
development

11. is a process through which a
human infant begins to acquire the
necessary skills to perfornm as a
functioning member of the society.

(1) Development
(2) Socialization
(3) Learning

(4) Maturation

P-II/M

8. fyw@ ¥ an § frafatad 3 § FH-H 0F Fam
wd r? o
(1)mwémﬁmmm
(2) s wfEdd TE A q A

9 2 |
(3) T firg st & ford ifa & el 21
(4) Frem s & frawEen 7% 9ga @9 T
¥ T & 3R IF =12 7 A2

9. Ww-F9YH IEMY &
(1) 10 9§ F =18
(2) S &2 a9
3) 23 F 6
4) 659 1199

10. ‘‘Fret =afs 31 FHR 33 § FEE9 F 92 6
o sgEhs g & fuiia 26 21 @R
T
(1) 3 & 2, FHit% -9 wg 98 fag Fd
2 % fawm 9§ adEw =1 921 99E 93
TFal 2

(2) 3= B, | Tl SAtw A ERE

(3) 3= 3, Fift% aga-¥ Wy 77 fag +Q B
& sgafys @ @ St % fawm &
Iiasamol Fdr @

4) 3% T 3, Hih Iq=@ F g2 Thl
e I 3g IR o ¥ =9 Jrem =@
2

11. o i 3, Foms mom @ ame g
AN % Wira 9o % &9 A Freqre =0 % R
HEAEF FIAT HT 36 FHT IR F@T 2

(1) foepra
(2) GHTSERm
(3) i@
(4) witgsman




12. According to Piaget, which one of the
following factors plays an important
role in influencing development?

(1) Reinforcement
(2) Language
(3) Experience with the physical world

(4) Imitation

13. The cognitive ability that comes in
pre-operational period is

(1) hypothetico-deductive thinking
(2) ability for abstract thinking
(3) ability of goal-directed behaviour

(4) ability to take other’s perspective

14. Which one of the following is a correctly
matched pair?

(1) Social contract orientation—
Physical consequences of an action
determine whether it is good or bad

(2) Punishment and obedience
orientation—Laws are not fixed,
but can be changed for the good of

society

(3) Good boy and good girl
orientation—One earns approval by
being nice

(4) Law and order orientation—Ethical
principles are self-chosen on the
basis of the value of human rights

15. The concept of ‘private speech’ of
children as proposed by Vygotsky

(1) shows that children are stupid and
thus need guidance of adults

(2) illustrates that children are
egocentric

(3) shows that children love
themselves

(4) illustrates that children use speech

to guide their own actions

P-II/M
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16.

17,

18.

19.

20.

According to Vygotsky, learning cannot
be separated from

(1) perception
processes
its social context

reinforcement

and attentional

(2)
(3)

(4) a measurable change in behaviour

Progressive education entails that the
classroom is

(1) in full control of the teacher, who is
dictatorial

(2) democratic and there is space given

to children for understanding

authoritarian, where the teacher

dictates and the students follow
meekly

free for all with the teacher absent
from it

(3)
(4)

Which one of the following illustrates a

person with linguistic intelligence?

(1) The ability to handle long chains of
reasoning

(2) Sensitivity to the meaning and

order of words and the varied uses

of language

Sensitivity to pitch, melody and
tone

(4) The ability to notice and make
distinctions among others

(3)

Language _____ thought processes.
(1) cannot determine the

(2) does not influence the

(3) totally governs our

(4) has an influence on our

A textbook of Class VIII has following
illustrations—women as teachers and
maids while men as doctors and pilots.
This type of depiction is likely to
promote

(1) gender empowerment
(2) gender stereotyping
(3) gender role play

(4) gender constancy

P-II/M
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21. There are vast differences among the

22.

23.

(4) ridicule

students. Of these
a
be sensitive to teacher needs to

I. differences ba
T1C sed on cogniti
capabilities and learning levegll:;ltlve

II. differences based on diversity of

language
, caste en e
CommUnity » B der, rellglon,

Select the correct
ans
code given below. wer using the

(1) Neither I nor II
(2) Only I
(3) Only 1II

(4) Both I and II

Assessment by only paper-pencil tests
(1) promotes holistic assessment

(2) limits assessment

(3) facilitates comprehensive
evaluation

(4) facilitates continuous evaluation

A teacher has a ‘hearing impaired’ child
in her middle school class. It is

important for her to

1) ask the school counsellor to talk to
the child’s parents and tell them to
withdraw their child from school

t at a place from
the teacher’s lips
learly

(2) make the child si
where she can se€
and facial expressions ¢

inting to what the child

(3) keep po .
o over and over agamn

cannot d

the child and make her sit
separately SO that she joi'ns an
institution for hearing impaired

P-II/M
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24. A teacher can effectively respond to
the needs of the children from

‘disadvantaged sections’ of society by

(1) adapting her pedagogy to the needs
of every child in the classroom

(2) ignoring their background and
asking them to do chores in the
school

(3) making them sit separately in the
classroom so that they do not mix
with other children

(4) telling other children to treat the
children from disadvantaged back-
ground with sympathy

25. Children with learning disability
(1) are very active, but have a low IQ
(2) are very wise and mature

(3) cannot learn anything

(4) struggle with some aspects of
learning

26. Teachers can eéncourage children to
think creatively by

(1) giving them

multiple-choice
questions

(2) asking them to think of different
ways to solve a problem

(3) asking them to memorize answers

(4) asking them recall-bageq questions

P-II/M
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27. Which
philosophical perspectives needs to be
followed to deal with children with

sp
(1)

)

(3)

(4)

28. Learner-centred approach means

(1)

(2)

(3)

(4)

29, Which one of the following is central to
learning?

(1)
(2)
(3)
(4)

30. In

(2) is constructed by the students

(3) is dictated by the teacher and the
students are passive recipients of
the same

(4) happens by pairing of a stimulus
and a response

P-II/M

one of the following

ecial needs?

They have a right to inclusive
education and study in regular

schools.

They do not need any education
at all.

They should be segregated and put
in separate educational institutions.

They should be given only

vocational training.

use of methods in which teacher is
the main actor

methods where learners’ own
initiative and efforts are involved in

learning

that teachers draw conclusions for
the learners

traditional expository methods

Imitation
Meaning-making
Conditioning

Rote memorization

a constructivist

teacher

themselves who play an active role

classroom as
envisioned by Piaget and Vygotsky,
learning

(1) is offering of reinforcement by the
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IMPORTANT Candidates have to do
Question Nos. 31 to 90 Either from Part—II
(Mathematics and Science) Or
Part—III (Social Studies / Social Science).

from

T QeI Y ¥e G 31 § 90 A 7
11 (i iR frEE) A I (W

s | aE frr) & F 8

PART—II / sii—II
MATHEMATICS AND SCIENCE / wfora iR fasm

Directions : Answer the following questions

by selecting the correct/most appropriate
Options,

31. “Two complementary angles are in the
ratio 2 : 3. Find these angles.”

The above problem from NCERT
textbook of Class VII refers to

(1) higher order thinking as it
demands construction of a figure
using given information

(2) lower order thinking as it is based

on recalling information

(3) lower order thinking as it is based

on using the information in

concrete situation

higher order thinking as it
demands the interpretation of given
information, its analysis and use in
getting the desired information

(4)

“Prove that there is no rational

number whose square is 2.”
This type of proof is

32.

(1) proof by contraposition
(2) direct proof
(3) proof by contradiction

(4) proof by counter-example

Pdw . Pofifes v % 3R 3 ¥ R wh/w
oy faeed i)

31. ‘A T FW 2:3 % gy ¥ T IR I
$iferg )"’
w0 VI R o o Fo Re Fo H
Td-JETF H IR T3 F1 g & 6 a8
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wa § 5 @ g s @ F it = A
11

(2) f= Ioft o1 fomm 3, w6 98 B IH
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(4) =R vt w1 fER R, Fif% g8 onsm
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e =1 2 21
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(2) v Iuufy

(3) TR g1 sumfy

(4) TIRTERT TR Y9

SPACE FOR ROUGH WORK / T &® & Rt we
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33.

Consider the following statement :

) | 33. fm Fw\ W famm Hifv -
lalifsetcl'tle Cha8(})1nals of a quadrilateral “aft w ade F o wem W el
eac other, then the %@ﬁ Gy ”
quadrilateral is a parallelogram.” TR, @ @ S B
This statement is a/an e Fo
(1) definition (1) aRvm
(2) theorem (2) T
(3) axiom
(3) st
(4) proposition
(4) 9=
34. ‘Representation’ in Mathematics does
not refer to 34, 7@ & ‘wexia’ Ig@ wE K @
(1) expressing the number sequence .
through geometrical patterns (1) we 3o # varfirdia e 7 3w w1
(2) expressing the relation between two (2) A= & 7o gey H THER § AT H
variables as an equation
(3) expressing an important geometrical R ¥ A =
result as a theorem L2l
(4) expressing the given data through (@) feu e stwet i srmerE g/ = BT
graphs
35. In NCERT exemplar book for Class VIII 35. Tl VI $i Wo Ho Jo 3o fo THATTH
at the end of Unit 5, ‘Understanding TF (R W) # , e TP #
quadrilaterals and practical geometry’, g R wficfe W % s # 9gd ®R
lots of activities like constructing frarrem SR 5 e A =, I TR A
tessellation, constructing tangrams, T TeTie TR g¢ ¥ 36 TR F FE F e
etc., are given. One of the objectives of T} T T g HH 8
such tasks is to help
(1) all learners with different learning (1) ?mﬂzrﬁﬁ‘@ﬁﬁ( o & [ %
styles and to enhance spatial kS
ientati
orientation o) PR RERE w3 5
(2) visual learners only to improve TeRINUTIeNeh sheml ! GURA N
their analytical skills R
3) Tfqey el ET ol
(3) kinesthetic learners only to ) Wm? *IRE\? .g‘ Wﬁ i
improve their visual thinking skills ¥
(4) auditory learners only to improve (@) Ao fenfdat A, Faw T wEHES
their creative skills FAl ) gurA |
SPACE FOR ROUGH WORK / 6 %M & Tt we
P-1I/M
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36. Which one of the following statements

is mnot true about projects i

Mathematics?

(1) They make scoring easy in
Mathematics.

(2) They promote inquiry skills.

(3) They enhance problem-solving
skills.

(4) They establish interdisciplinary
linkages.

Which one of the following activities
is mnot appropriate for ‘data represen-
tation and data interpretation’

37.

(1) Newspaper report

(2) Project
(3) Survey
(4) Debate
2 3 :
38. If x=§ and y=Z, then a rational
number  between  (x- y)! and
(xt-y')is
71 1
1) -—— 2) =
M -5 E =
2 71
3) = 4) ——
@) 3 (‘) =

39. If 0-001+1-01+1-001—(1-03x0-1)
+(1-11+0-1)+x

36. TPE &
§ F-w A e &7

(1) & fira & 3 STE FT S auid
éﬁwm@mﬁﬂﬁ‘%l
(3) aqu-mmﬁﬂa?ﬁa@%%'

tirarei 3 it Frffed Fo 3

(2)

37. fefifa § ¥ #e-w fwaEe ‘afferel 6
i ateel ¥ Frewr & fae 30

wdt 87
(1) TR e |
(2) TR |
(3) wa&
(4) ar-feame
38. 7R x=% 3 y=% 2 @ (x-y) ! AR
(xL -y} % A o TR we R
71 1
i 2] =
(1) T (2) : |
2 71
@ 3 W -

39. 9 0.001+1-01+1-001—(1-03%0-1)
+(1-11+0-1)+x

-1
=1-4x(—1—)
10

-1
o)
. 2, A xHAAR
then the value of x is
(1) 0-758 (2) 0-991 (1) 0-758 (2) 0-991
(3) 0-919 (4) 0-785 (3) 0-919 (4) 0-785

SPACE FOR ROUGH WORK / % %1 % fu wmg

P-1I/M

12



—_———

40. If 3(5x-7)-4(8x-13)=2(9x-11)-17,
then the value of 7x- is

40. aR 3(5x-7)-4(8x-13)=2(9x-11)-17
7x -5

B, @ A B
11x-9 11x-9
9 14 9 14
1) — 2) — =z 5=
W3 @ 3 1) 33 @ 3
14 9 14 9
3) -— A =i 4) -=—
(3) 31 (4) 13 (3) 3 (4) 13
41. If—10—§8—x—— /648 =18, then the value of 41, afe V1058 x V648 =18 %, A x & OW &
X X
x is (1) 58 (2) 23
(1) 58 (2) 23 (3) 36 (4) 46
(3) 36 4) 46
& 42. A @1 ¥ qH 2, Al
42. What is the value of A such that mxm —40xA
3 3/ =
| 500 x3-3456 =40x A a3
is true? (1) -15 2) -2
(1) -15 (2) -2 @) -3 @ -12
(3) -3 @) -12
43. m?ﬂagm,m
43. The value of m such that 3 P -
533 4\5  (o\2m-l (g) « (_4_) _ (g)
6) (5 - () o) “\a1) "
9 81 9 "
is ’
(1) -4 @) 3 o (2) 3
(3) -6 4) 0 (3) - 4 0
= 22 21
a4. Let x=597x10%2 +73-5x10%!, When | ** ma‘rﬁ%ﬁﬁx_swno + 78 -8 <10
x is expressed in standard form as R} V@ x I AE T H 60435 x10™ % TN
6.0435%10™, then the value of m is = o Y, @ mw wE R
(1) 24 (2) 21 (1) 24 (2 21
(3) 22 (4) 23 (3) 22 (4) 23
1
45. If 2m— -1 =2, where m#0, then the | 45.3R 2m-—=2 % <& m=0,
2m i 2m
value of m? + - is m? + 2?”41’4%
16m 1ém
1 1
1) 1= 2) 4 1) 1= 2) 4
(1) 3 (2) (1) 5 (2)
1 1
3} 2= 4) 2 3) 2= 4
(3) = (4) (3) 3 4) 2
SPACE FOR ROUGH WORK / T %M % fau e
P-II/M
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46. One of the factors of x* +4 is 46. x* +4 % TF THES B
(1) x2-2x+2  (2) x2-2 (1) x2-2x+2 (2 x%-2
B) x?+2 (4) x?+2x-2 (3) x2+2 4) x? +2x-2
47. The mean of the five observations .
X, X+2, x+4, x+6, x+8 is 11. Then | 47. 9 ¥ x, X+2’§§u%4' x+6_éq’1‘+8 &l
the mean of the first three observations T 11 ) Sem dH Rk
(2) 9 4) 2
3) 12 @) 2 (3) 12 (4)
48. A bag has 5 red marbles, 4 green 48. b ¥ d 5 m.ﬁ’ 4 R F9 o 3 i
marbles an F9 2 wft R W F Afaf wft ywr @
d 3 blue marbles. All
marbles are identical in all respects mf}: 3t weem 71 4 A @ fom W @
other than colour. A marble is taken T H SR e S @1 g% e ) R
out from the bag without looking into T R, gEeh = wifdeeen 27
It. What is the probability that it is a 7 5
non-green marble? (1) — (2) —
m Z 5 | - 5
e 2) O
'S ¥ 1 @ = @ 2
1 2 3 3
S 4) = ‘
- 49. 9k ABxBA=BCB %, W&l A, B 3R C
49, IfABXBA:BCB, where A, B and C m Th _Eﬁ S 0 LA R T % 3ﬂ-{
stand for just one digit and A #B # C, A#B#C% @@ A+B+CH AA R
then the value of A+B+C is
(1) 6 2) 10 (1) 6 (2) 10
(3) 9 (4) 8 3) 9 (4) 8
50. If x, y and z represent the number of [ 50. R x, y 3R 2 Fw: foft aghee & FAH,
faces, number of vertices and number et ofr formt it vemell A weRfT @ &, @
of edges respectively of a polyhedra, = ¥ ¥ Be-w w27
then which of the following is true? (1) y-2=z+x (2) x-2=2z-y
() y-2=2+x (2 x-2=2-y (B) x+2=2-y (4 z-2=x~-
B) x+2=2z-y (4) z-2=x-y = y = y
51. Ravi purchased two articles for & 1,500 [ 51. 3 & a5g¢ ¥&@% A € 1,500 F w1 3@
each. He sold them, gaining 6% on Teh 9% H 6% TN W qAl T H 4% T
one and losing 4% on the other. His W ST W R AR F 3T IFe o /EH
gain/loss percent in the whole gl 2
(t;')ansa.ctlo;/ls (1) ¥, 2%
_gain, 2% o
(2) loss, 1% (2) =, 1 o/"
(3) gain, 1% (3) =™, 11/0
(4) loss, 1%% (@) i, 129

SPACE FOR ROUGH WORK / & &M & fau smg
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52. In which one of the following cases, the

: 52. frm feafel @ @ fva feufa 8 w@pfa ABCD H
construction of a quadrilateral ABCD is N

T 994 FE1 B¢
not possible? A1 H9T TR R
(1) AB=3-5cm, £B=125° «LC =80°, (1) g?fggcm’ﬁf%gigss‘ £LC =80°,
BC=5-5cm and CD =5cm " = cm 3% CD =5 cm
(2) AB=4ch BC =6 cm, f\c:scm' (2) AB =4 cm, BC=6CH\, AC=8cm,
AD=5.5cm and DC=5cm AD =5.5cm A DC =5cm
(3] Bc=45Cm, AD::SS cm, CD (3) Bc:45cm’ AD'_—SSCm, CD
=5cm, AC=5-5cm and BD =7 cm —5cm. AC = 5-5 cm 3 BD =7 cm

(4) AB=6cm, BC=9-5cm, LA =75°

(4) AB=6cm, BC=9-Scm, ZA=7%,
/B =150° and £C=140°

/B =150° W £C =140°

53. Let x be the angle which is equal to its Sifsm .
complement and y be the angle which 53. 3 mfﬁ ;Whgmﬁ?%%@ﬁ T‘mz
is equal to its supplement. Then 2x +3y i 1 LA i =
is equal to QU R | dE 2x + 3y T 2
(1) 360° (2) 180° (1) 360° (2) 180°
(3) 135° (4) 270° (3) 135° (4) 270°

54. How many sides does a regular
polygon have if its each angle is of

54. a7 TF FEERYS ® WeAE FU F A 108° 2,

measure 108°? A g ‘3?““’“ #) Fen #= qie
(1) 8 (2) S (1) 8 (2) 5
(3) 6 4) 7 (3) 6 @) 7

55. ABCD is a quadrilateral in which 55. ABCD T% I« ®, fe® BD =40 cm ®|
BD =40 cm. The lengths of the perpen- g el § BD W Y T FE 6 el

diculars drawn from the opposite 16 cm @a 12 cm ®| EA P TS
vertices on BD are 16 cm and 12 cm. R O

The area of the quadrilateral (in cm?) is (1 o "R
(1) 600 (1) 600
(2) 500 (2) 500
(3) 560 (3) 560
(4) S80 ' (4) 580

56. Two sheets of paper with measure 56. FS F A gﬁiéﬁ m ¥, TS WU 22 em

22 cm by 28 cm are taken. Each sheet % 28 cm 2| TIF e A Aem S T
is then rolled into a cylinder, one

having the height 22 cm and the other %z’sﬁﬂﬁ ;aﬁ %ﬁﬁq 22 C{;‘qﬁ—( g;)ﬁﬁﬁaﬁl‘—g
of height 28 cm. The difference in their E\Tl'ncm | AT cm

volumes (in cm?3) will be

(1) 316 2) 0 (1) 316 (2) O

(3) 216 (4) 294 (3) 216 (4) 294

SPACE FOR ROUGH WORK / T% FH & fou e
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e H @ 5024 cm ®)

3R
. AFQ ar ¢ ks
57. A square and a circle are formed using 57. an F Th gﬁ?@ A Th = 7 H;Hg; %g:_dﬁ'g
pieces of wire of length 5024 cm each. —— o] ¥ amkdl g9
The ratio of the area of the square to EElkl 3
that of the circle is 3T 2) m:4
1) 8:n 2) n:4 1) 8: 71
M @) (1 ) s 8
B) 4:n (4) n:8 3) 4:m
. #i uga &1 o 3
58. Anisha and Amit study in Class VIL | gg arfign afit sifid HAT VII o v A
Anisha told Amit that if the marks in i T A 76 ar IR "5 e, @ v B
Mathematics of each student in the 3 o % %iF § 5 # gfa Al I, 5 7w
class are increased by 5, the average f Eﬁ:‘i il =z M I8 oft el Th I
would go up by 5. She further says that S 3 ¥ fore &l & afftra 39 HEd T
it is true for all numbers. Amit does not ‘g’@'n Y 5% WH W A1 n Qe
agree and Anisha proves it by taking ga7 @R S i B
the case n, instead of 5. Anisha is using firg foem| @rftem A
(1) estimation (1) AT =l
(2) inductive logic (2) smmafiR @
(3) deductive logic (3) frmfas a6 w
4
(4) common sense (4) wH A H
59. Using technology-based games - i geetl F
involving factorization of numbers or 59. ARl W .@Tﬁ’ F NSFL T8
formation of new shapes by joining THES I fg-amarft 3“3”%5]
2D shapes, etc. AT S A1 B R, FH T
(1) helps teacher to manage students (1) ferenféfat =t Tifora =) TR H S @A
in Mathematics laboratory o e Y GEId HET B
(2) enhances students’ numeracy (2) frenPit $ e e IR gfpe
skills and computational skills 2ETaT R ST 2 :
(3) enhances students’ ability to ' oy ST
understand the concepts better as (3) ﬁmﬁiﬁﬁ i et §
they are able to explore, observe % gfs @ A1 3 o A < TgER
and infer at their own pace , &1 3R Frerd =3 F FRO A
(4) helps teacher to assess students’ . | v &
performance in Mathematics (4) Tgw g fqenfiE % e gesla &=
60. Writing proofs in geometry implies g w A 8
(1) steps of drawing a figure 60. artafa ® 3Iugfy feran d%d wear R
(2) two-column table of axioms and (1) fereht AT 6 A & 98 A
deductions o () f-wfm TR B, Rl s e
(3) argument or justification of e 3
statements
(4) description of a geometrical (3) o % 7% shfere
problem (4) sl we & auiq )
SPACE FOR ROUGH WORK / % &M % fau s
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61. Somia usually takes her Class VII
I§t:1111<:1e{1ts on a field trip. Which of the
ollowing could be the objective(s)?

A. Istt lfgg:iti?s concrete experiences to

B. ;l’llg can give them assignments
assessm}:;rr?_g.ects for formative

C. It enhances process skills of
students,

D. It saves her teaching time.

(1) B and C

(2) A, B and C

(3) Only A

(4) Only D

62. Which one of the following assessment

strategies is most appropriate to assess

th

science classroom?

(1) Paper-pencil test

)
(3)
(4)

63. “Open a water tap. Adjust the flow so
that it forms a thin stream. Charge a
refill. Bring it near the water stream.
Observe what happens. Write a short
report on the activity.”

The skills) developed in the
students through this activity is/are

(1)
(2)

(3)

(4)

e experimental skills of students in a

Practical record
Checklist
Concept mapping

experimentation only

observation, experimentation and
communication

observation, experimentation and
creativity

observation only

61. WA SF TR VI % Frafi =

6

-9 R A S
Bty A Y

A. =& Tt 1 3w sme wew w2y

B. ¥ 3% W W W N an-w Tees
IR F faw 2 vl R

C. @ foanfidl & wwnm =
w1 : =1 e

D. ¥ 35 femr aa ) w=m B
(1) B3R C

(2) A, B3R C

(3) %A A

(4) Fa@ D

62. Frffad Amrem gl § ¥ F-@ IRE

o wean A faafil § yafe TRa =
e HA o foru el srfirer 3fu 27

(1) wre-afet e

(2) T Al

(3) SHa-HER (Ihferee)
(4) AFERON it

3. “grt ¥ 97 B @fel W vach 9R % Y

TR i | fad fifea = emafiE S
W o i a ¥ freee e Yem AR
7 21 B 38 ity R afw fed faRa)”

wnﬁ%ﬁ%mwﬁﬁmﬁﬁﬁﬁmﬁm
wive /%

(1) Faa T HEA

(2) ST, S A AT G
(3) T, TN FHA| AT FoHIHRN
(4) el ST

P-II/M
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64. Identify the incorrect statement about
the nature of science.

(1) The methodology of science and
its demarcation from other fields
continue to be a matter of
philosophical debate.

the most established and

(2) Even
universal laws of science are
always regarded as provisional,

subject to modification in the light
of new observations, experiments
and analyses.

Speculation and conjecture also
have a place in science, but
ultimately a scientific theory, to
be acceptable, must be verified
by relevant observations and/or
experiments.

3)

Science is considered as value-
neutral and objective, and the laws
of science are viewed as fixed.

(4)

65. Which of the following strategies are
most appropriate for a teacher to teach

the topic ‘Save Energy’?

Ask students to write slogans on

A.
saving energy

B. Write at least five ways to save
energy

C. Make a model/project to depict
energy saving

D. Encourage students to save energy
in various ways in their lives

(1) B, Cand D

(2) A, Band C

(3) A, Band D

(4) A, C and D

65.

s F= e " 3o
ferm mm_ﬁaﬁwﬁwm%
) 3 s T, o T

ﬁ"ﬂﬁ’ﬁm 5 sad

ST 21

(1)

ﬁamaﬁﬁaﬂafﬂa@ﬁg
) P e frm 3 s

SR

A Ferrohdt B e wam w R freR & fae
Exdll

B. ol wem % R FA-A-H0 di= qls
AECEl

C. = www weRld w3 % fag g/
QfESET SA

D. frenfial = o s # fafim alist &
Fell Ggr & T Treatted

(1) B, C 3R D
(2) A, B3R C
(3) A,B3RD

(4) A, C3RD

SPACE FOR ROUGH WORK / T &M % fiq g
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66. There are two planets in our solar
system whose periods of revolution
around the sun are less than those of
our earth, but their periods of rotation
are more as compared to those of the
earth. These planets are

(1) Mercury and Venus

(2) Uranus and Neptune
(3) Mars and Jupiter

(4) Mercury and Saturn

67. The melting points (in °C) of Sulphur (S),
Aluminium (Al) and Iron (Fe) are 113,
666 and 1535 respectively. Which one
-of the following is correct?

(1) Fe, S and Al are solids at 200 °C
(2) Only S is solid at 200 °C

(3) Only Fe is solid at 200 °C

(4) Al and Fe are solids at 200 °C

68. An electric circuit is set up in such
a way that the positive terminal of a
battery V is connected to a bulb B,
which is connected to a resistor R
which is connected to bulb B,. B, is
finally connected to the negative
terminal of the battery. Both the bulbs
are glowing. If the value of R is
increased, then

(1) both B; and B, will become
dimmer

(2) B, will become dimmer but
brightness of B, will remain
unchanged

(3) B, will become dimmer but
brightness of B; will remain
unchanged

(4) both B, and B, will remain
unchanged

66. T ¥R fER ¥ W A mk ¥, e @ F 9w
IR gfEEUEE 'R get % aieeTETe
g § BRI R, g FH PAHE g F
Ui | S81 R | H TR F A &

(1) 39 3R L&

(2) BT M T

(3) T 3R gEEfd

(4) gy 3 wf

67. TR (S), FegHi-Em (Al) 3N AR (Fe) &
Te (°C ®) FHM: 113, 666 a1 1535 &
Freferfaa & @ F9-T & 98 27
(1) Fe, S @ Al 200 °C AT9HH T 34 &
(2) ¥a€ S 200 °C YA W 34 ?
(3) F9@ Fe 200 °C UHH | 3 ¥

(4) Al 92 Fe 200 °C 9HH W 39 ©

68. T fagq ufwy 38 v T T @ Al v
F YA A O Sed B %ﬁm%shaa
BQQ@WRQ@I%\W B, =&

% woeRs Zfiid ¥ g1 R\ AW Tew AfEH
#| 3R R %1 9H wg1 fen sy, @

(1) B, 3 B, 3 #i &ft =1 7 smeh

(2) B, # difi w0 & Swh 3R B, H A A
1§ vREdA T e

(3) B, H &ify #=u @ srh ok B, f AW A
ﬁ%qﬁaﬁﬂ%‘im

(4) B, ¥R B, 3t ufaEfda W
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69. Read the given statements and select
the correct option :
Statement A 5
The range of clinical thermometer
is from 35 °C to 42 °C.
Statement B :
The range of laboratory thermometer
is usually from 10 °C to 110 °C.
Statement B s correct but
Statement A is false
Both Statement A and Statement B
are correct
Both Statement A and Statement B
are false
Statement A s
Statement B is false

(1)
(2)
(3)

(4) correct but

70. Which one of the following places in
India is most likely to be affected by
cyclones?

(1) Puri

(2) Amritsar

(3) Udaipur

(4) Badrinath

71. The air near a heat source gets hot and
rises. The air from the sides comes in
to take its place. This is the way in
which the air gets heated by oil
heaters. What is this process called?
(1) Diffusion
(2) Conduction
(3) Convection
(4) Radiation

72. A book is lying at rest on the surface
of a table. Which one of the following
statements is true about the force(s)
acting on it?

(1) Only frictional force is acting on it.

(2) There is no force acting on it.

(3) There is a pair of balanced forces
acting on it.

(4) Only gravitational force is
on it.

acting

69. Ru MU HAl A afeu, qu v femmeq 1 g

HUq A

el ATl (emidier) # AfE 35 °C
¥ 42 °C B
wUA B :

Wwﬁt (emfsfiet) 1 IR ow:
10 °C @ 110 °C & 2|

(1) Hu= Bgﬁﬁ%ﬁﬁiﬁmAW%
(2) FUF A 9o FU B aH wE &
(3) 9 A a1 F49 B A1 Td &
(4) mmAHﬁ%ﬁ!ﬁEﬁWBW%

7o.w%ﬁw%f@awﬁﬁ%ﬁa-m_w
=ThaTdl o wed stk waifem dm?

(1) 3@

(2) rgaE
(3) TR
(4) FIXA

T F1 F G F afY T B Sl R au W
I3 TR ¥ wN UTRET @ IR T T @
21 i TR T A @l @ R A R aw
F-dt ufsean 27

(1) form

(2) w=TeH

(3) "a&A

(4) fafemm

T 6% 0 & 9 W fam o Rl § v

mel%aa/vﬁﬁaaaﬁﬁﬁn%ﬁaaﬁ%

HF-H1 T HU4 geg 27

(1) 8 R baa wdvr s/t % 3 @ 2

(2) R HE 7@ w1 T8 = @)

(3)w;é§%aaﬁwwmmm
@I 2|

(4) mmmqﬁﬁﬁmwwﬁmm%\

71.

72.
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73. Read the given statements and select
the correct option :

Statement A :
Husk is separated from heavier
seeds of grain by winnowing.
Statement B :
lefe.rence in the size of particles in
& mixture is utilized to separate
them by the process of sieving and
filtration.

Both Statement A and Statement B
are true

Statement A is true and Statement
B is false

Statement B is true and Statement

A is false
Both Statement A and Statement B

are false
74. The pressure in a fluid that is at rest

(1) acts in all directions
(2) acts only in vertical direction
(3) acts only in downward direction
(4) acts only sideways

75. Which of the following statements are
true about image formation in a plane
mirror?
A. The image is larger in size than the

object.
The image is formed at the same

distance as the object.
The image is laterally inverted.

The image is virtual.
A B, Cand D

(2) A, Band C

(3) B, C and D

(4) A, Cand D

76. All of the following are single-celled,
except

(1) hen’s egg
(2) zygote

(3) embryo

(4) paramecium

(1)
(2)
(3)

4

B.

C.
D

(1)

73. ﬁmmmﬁﬁwﬁmamaﬁﬁmaﬁgﬁm
wUA A
Tl Sl /oy e g sem e
ST B

%A B :
fafim e & Foit ¥ T = 9w 5
Frerem wfsran g etem e sman )

(1) H°F A G U B S A ®

(2) FUF A T R A FH B A »

(3) U B U™ & AU FHAA A HEA »

(4) FOF A T FA B I e ¥

fér atgeen # @
(1) |sfi fremedt § <ema st @
(2) e waeq fem A TemE gt @
(3) Faw A= e § @@ @ R
(4) Faw T A AR T Trer @
wF uOed g9u W ufafie S % gew #
Frafafad 1 @ FA-8 o T &7
A. gﬁﬁawma@%ﬁmémﬁm
|
B. whifss awg =R g0 % wam gl W s R
C. vhifsm T wiaata B 2|
D. fifem snwrf g )
(1) A, B, C#RD
(2) A, B3R C
(3) B, C¥RD
(4) A, C3RD

76. Srfiad af wrREhE &, R
(1) ofl = 3Fet
(2) T T

(3) q
(4) YehfRem

74.

75S.
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77. Read the following examples from daily

life and select the appropriate option :

A. When food gets spoiled, it produces
a foul smell.
B.

e HAFAC -
A. mmﬁﬁwm%vﬁ“@qw

B ?ﬂagﬁﬁ“@w%mm

A slice of apple acquires brown

colour when kept out for some time. @ o 2, @ 98 4 il Gﬂ?;'%l O
C. When an ant bites, calamine is c. JtA % wed ¥ I9d S gﬁ

used to ease the irritation on skin. foru Srenfi 1 TE ﬁ-.‘m EIGIE!
g) All are chemical changes (1) qeft Tt ufiEdd & &
(2) A and B represent chemical changes (2) A@n B qETEfE aitEdd T

(3) B is a physical change
(4) A and B are physical changes

78. A student burns a magnesium ribbon

(3) B T shfere afe
(4) Aaa}'{BWWﬁaﬁq%

% ot f 1 arg § e b

in air and dissolves the ash of the | 78- 1A S 3§ S e
ribbon left after burning in distilled SUSER] Eﬁ T F ks . Ugd i
: 3 frema & T 48 A

water. On pouring one drop each of ATl B 39 TN W 98 98
this solution, first in blue litmus and forema o fim ot foremd W
then in red litmus solution, he would Jeor M o6
observe that (1) Fren fremm = @ IR, ST A
(1) blue litmus turns colourless, Tremg ol € @ B

whereas the red litmus remains red (2) Hen forema dren @ WA B, w&th o™
(2) blue litmus remains blue, whereas Taamg Hren & s @

the rgd litmus turns blue (3) Hen forema o B S B, SEfR A
(3) blue litmus turns red, whereas the S # 2

red litmus remains red ;ﬂa m'@ 2 et o
(4) blue litmus turns red, whereas the (4) ren ol LR

red litmus turns blue Forea et @1 S @

79. "'didl, SN B IqH A0E F el ¥ A T

79. “Copper cannot displace zinc from its

salt solution. Give the reason.”

The following reasons are given by
Class VIII students :

H HqHAT B FRO AR’
41 VI % feenfdgi g frefafag s R
RI LU

A. Copper is more reactive than zinc. A. dfen, 9@ ¥ st iR 2
B. Copper is less reactive than zinc. B. dlel, 9@ § #H SR 2
C. Zinc is one of the noble metals.‘ C. e e tr@a:ﬁ I 2
D. Zinc appears below copper in D. s s e, A1 B A A 2y
reactivity series. : N 3G ’ 3
Select the correct reason(s) from the e VI % Fenfefat g Ry o wwot
reasons given by Class VIII students. H Tt Hwo /it w0 P
(1) Only B (1) e B
(2) Aand D (2) ARD
(3) Only A (3) F=w A
(4) Cand D (4) C3R D
SPACE FOR ROUGH WORK / (% % % e <
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80. Select from the following a group of

diseases caused by bacteria.

(1) Tuberculosis, Pneumonia
Typhoid

(2) Chickenpox, Influenza and Polio

(3) Malaria, Polio and Typhoid

(4) Chickenpox, Meningitis
Tuberculosis

and

and

81. Consider the following Column—A and

Column—B in which the names
of micro-organisms are given in
Column—A and the groups to which
they belong are given in Column—B :

80.

81.

frfafaa @ @ Sfamei (3hfm) T %

(1) aﬁﬁm((@),?{mﬁméﬁ(m
. EARRAEE

() gm?ﬁ@@‘m B}

(3) W,WﬁWW(M)

(@) DA wra, it (AFeeEE) s
qufe (Zgergenie)

A Ry M wH—A R TH—B W fER
Wmﬁﬂﬁ w—A o gershal % W g
% qon wew—B # 3 il % AW g m R e
EREIRCEE

Column—A Column—B FH—A W‘;’;:
(a) Aspergillus (1) Algae (a) [ nE L (1) ey
(b) Lactobacillus (ii) Bacteria (b) TFEEfHAE (_1_1) -
(c) Paramecium (iii) Fungi (c) trfifiEm (1_11) e
(d) Spirogyra (iv) Protozoa (d) TR (iv) S
(v) Virus (v) feam
The correct match of the items of T —A F Tel & &EH—B # H2l % "H
Column—A with that of Column—B is o firem 2
(1) a b c d (1) a b c d
eooi v B ivo v
@2 a b ¢ d @ a b ¢ d
i v i dvo
@3 a b ¢ d @ a b c d
iii i iv 1 Wil iv i
4 a b e d 4) a b c fi
v iii ii iv v iii ii iv . .
82. Which of the following statements are 82. f=fafaa & ® ﬂw—@r;vﬂ HHE A=
' true about veins in human circulatory fArgatt ¥ ﬁwﬁ wd _ "
system? bon dioxide-rich s g:; ET(@IQ %Tﬁh SRS G
i carbon =
* ﬁé‘;’;—lns - B. Rmed 6 g gaeh Bt 1 o &
B. Veins have thin walls. _ C. R w A e oM A T A
C. Veins carry blood from different o 3|
organs to heart. (1) A, B #RC
(1) A, Band C (2)A3?RB
(2) A and B (3)B3=ﬁIC
(3) B and C (4)A3ﬁIC
(4) Aand C
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83. Cellulose-rich food substances
(i.e., roughages) are considered an
essential component of a balanced diet
of human beings. Which one of the
following is the correct statement about
cellulose?

(1) Cellulose breaks down easily into

smaller components which are
egested as roughages.
(2) The cellulose-digesting bacteria

present in human beings convert
cellulose into fibres.

Human beings do not
cellulose-digesting enzymes.

(3) have

(4) Cellulose is a type of carbohydrate,

which gets absorbed in the human
blood and gives energy.

84. The joint between head and upper jaw
is an example of

(1) ball and socket joint
(2)» hinged joint

(3) pelvic joint

(4) fixed joint

85. Identify the correct statement(s) :

A. The freshwater stored in ground is
less than that present in the rivers
and lakes of the world.

B. Water shortage is a problem faced
by people only in rural areas.

C. Water from rivers is the only
source for irrigation in the fields.

D. Rain is the ultimate source of
water.

(1) Only D

(2) Aand C

(3) A and B

(4) A, Band C

argeit- g wra-va (weit) WFE % AR
= m-%% saga wR s ¥ FefaEn
3 o T e A % A W R

1) Y STEr ¥ SR-oR e
()m%,ﬁgm%wﬁﬁﬁﬁﬁﬁ

E
SITd 2|

¥ sufer S-qrE e,
(2) %ﬁ%ﬁﬁvﬁj@;éﬁél
(3) W & Aegeiw-aTEH TSR AE T |
JHR F] FETEESE 8, S AW
@ jrgt@;mﬁﬁa@ B S0 YeH Hl 8
84. R 3 Tudt T F = T Sig Th ]|
(1) g Gige G (S T8 Hishe W5e) Hl
(2) f&w dfy (s wige)
(3) =nfor wfyr (Afca= <ifge) =
(4) =5 wY (fheres wiTse) 1

85. "H_Eﬁm/$91:ﬁaﬁ qaalﬁQ :

A. o § veld an wo e 6 akEl R
@ﬂﬁﬁﬁwaaaﬁm%l

B. 9@ # +H W wwemn ®, N @
el T ST S |

C. @al # o & fou =@t =1 s & s
R

D. ¥ % qayd 9 aui @ 3|
(1) %« D

(2) AR C

(3) AR B

(4) A, B3R C
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86. The assessment

in science should 86. FM T aTHeA 1 T 1 MY
focus on

3w W
(1) the understanding of concepts and (1) sraurenst o sw
processes

(2) precise definitions and

correct
answers

(3) getting accurate results

_ while
conducting the experiments

(4) EH 3R TE ARG T B AT R

(4) the ability to make neat and clear
diagrams

g7, i % A qw o /A W A
qEETAT |

87. Which of the following make(s) good
open-ended question(s)? A, 3R AR TR & wreRRE A g, @ @

_ gl 1 A R
A. What difficulties would we face

if our bodies did not have muscles

in it? B. Tam % 09, 3 ¥ ¥g ofv geel F W A
AR Y
B. What is the difference between the
stem of a rose plant, o tree :
and tulsi? SR C. g o 5W Hi 1Ra-feh § wga AR T
HRIR IR

C. Snake and snail have very different
styles of movement. Why is it so?

D. fafim v @& A fifve i R

ferdroramd. feafa)
D. Observe various roots and write
their features.
(1) A3RC
(1) Aand C
, (2) B M D
(2) Band D
(3) Had A
(3) Only A
(4) Only C (4) %@ C
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88. Read the following which appears in

Class VIII NCERT textbook :

Nylon appears like silk. It is strong and
flexible. These endearing qualities of
nylon created a public sensation, or
pylon mania, when it was introduced
In 1939, Women’s stockings made from
this new fibre were in great demand.
But, unfortunately, most of the nylon
pProductions had to be diverted to
making parachutes during the Second
World War (1939-1945). After the War,
when production of stockings resumed,
supply did not match the demand.
There was a huge black market for this
product. Women had to wait for hours
In queues to get a pair. Often there
were ‘nylon riots’.

What are the significances of
including the above in a science
textbook?

A To de\_'elop a historical perspective
In science and development of
ideas

B. To develop an appreciation of
how new inventions create new
demands

C. To develop a holistic understanding
of science

D. Including such anecdotes makes
science textbook light and easy

(1) A, Band C
(2) Only A and C
(3) Only B and C

(4) Only A and D

88. Fam VIII H TWe Hro '§o ARo o H

JrEg-gE @ fey o Frefafea sgeae #
i Yo S e ) 98 yae I e
B’rmw%laa 1939ammm,_ﬁ$§
. J AT § g S1Ya AEi-
E;ﬂﬁmnwm%ﬁﬁaﬁuﬁmaﬁ%ﬁ
# arlt A oft) gig guim ¥ fadm fovags
(1939-1945) % =eld g IedEd
s wm o w0 ¥g wW A R ww
M| g F §&, @ HISA F IeAEA g YRA
g @ Ain F orgEn qfd T A @R 58 IuE
¥ Rre wh Wil I TR 1| TF e A

*% T e I9E o A S A

w6 urea-g@w § 39w @ wife
T 6 T ArefeRar 27

A fam & e ofds = fem @
et o1 ferepre &

B. 4% 993 fosfyd 3t % v snfassr fFa
W TS | I T B

C. fogm 6 gwu gwg #1 fasm &

D. U =eA-guidl #1 wmivel w0 A g 6
TS -YEd A N W w9

(1) A, B2fRC
(2) ¥ A 3R C
(3) %ad B 3R C

(4) a1 A R D
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89. Sometimes the students have
alternative  conception related to
various science concepts. What should
the science teacher do?

(1) Scold the students
non-scientific ideas

for

having

(2) Tell the students that their ideas

are ‘wrong’ and teach them the
correct concept

(3)

Ignore their ideas

(4) Help the students revisit their ideas

through various activities

90. Wh.ich of the following statements
indicate(s) a good science classroom?
A. The learners devise their own

experiments and record their
observations.

B. The learners observe the
demonstration by the teacher and
write its steps.

C. The learners are, free to ask many
questions.

D. The teacher, along with the
textbook, uses multiple resources
to teach.

(1) A, Cand D

(2) A and C

(3) Only B

(4) B and D

sl Fnafidl w1 famm dedl sTaumonaR
- %“gm aravTon B 2\ P e B
I AT =TT, ¢

(1) st famd 6 oo Tt = =R

(2) Foenfie = =and 6 3 fa=m ‘“Td’ ®

(3) T foramdl ) e R

faform mfafaford 3 momm & s fard w

W) e ) 8 e 1w

3 g =3 T
0. frefirfaa et # & PA-T/H T ST
? Ha F aﬂi@mm%/mﬁ?

A foadi wm s wEm F@ R S R
srErE #1 & B ,

of, e o R, i Forael /vesi A
B o & S e e o ferd

4

C. Toemefi ﬁ%w@%mwa

D. foer fam % frg Trea-IeE F W -we
fafay weneAt o1 IR F R

(1) A, C3RD
2) AR C
(3) ¥a@ B

(4) B3 D
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IMPORTANT Candidates

Question Nos. 31 to 90 Either from Part—II
(Mat'hematics and Science) Or from Part—III
(Social Studies/Social Science).

have to do

iq‘ﬁ&{'{ﬁf’aﬁa‘ﬁwao 31“&90“’1%

MM—I1 (it 3R R a1 S—II (F e
[ fge) @ FA E

PART—III / w/—III
SOCIAL STUDIES/SOCIAL SCIENCE | R stemEA /AT SR

Directions
by selecting
Options.

Answer the foilowing questions
the correct/most appropriate

31. Why is the study of Social Science

‘scientific’?

(1) 1t comprises systematically
acquired verified knowledge.

It helps its reader to study the
scientific society.

(2)

() It uses scientific

content.

terms 1in its

(4) It fulfills the demand for calling

Social Studies as science.

32. You have to depict the proportion
of time a rural worker spends
as employed, underemployed and
unemployed in a year. Which one of the
following diagrammatic representations
would you select?

(1) Bar diagram

(2) Pie diagram

(3) Time-line diagram
(4) Flow diagram

33. Select the most appropriate reason for
assessing students through art

i« e s 3 w3 % o /v
Iuge forre i)

31. g M o e A @ g
(1) 3% ar=wid ueg ad® | JAIo I R

1Rl f3n <t 2|

(2) TR UISH ) GEIS & SFIH ST FA |
FEA L B

(3) o g # AWt wWeaEcl H
T R

(4) T GRS 9 fagE ®E A
! QU Ha R

32. 3" w s # Ffvm, seafEfa 3k

s o sfe g fam T wE ¥

wTgera 1 i wen = ) frefafea § @
3 HH-B e fmor 1 e

(1) 38 3m™

(2) I% M@

(3) wHE-Y@n M@
(4) waTe @

in | 33, il w1 wmfvs fgm fwm ¥ wa ¥
Social Science subjects. 1115 R Do T R g S .,
(1) It is a means to enjoy different i
styles of expression depicted in the (1) ¥& wTe-g&h 7§ e M fafim srfirsaf
textbook. AT F e o = mem Ry
(2) It improves students’ artistic (2) we Fenfat A feewren 6 dva J Jur
(3) It makfes it an enjoyable way of (3) T T T - 3,
evaluation. AFTH YT 61 Al
(4) It provides an opportunity for (4) T® IQURMI w1 ™ =AfE TR
personal interpretation of concepts. FA H ST TS FAT B
P-1I/M 28



34. Wlh::;c:l one of the following projects on
‘glo warming’ is based
B on secondary

(1) A collage of pictures on global
warming

(2) Interviews with elders living in an
area on changes in weather

(3) A graphical representation of
unanalyzed weather data collected
from meteorological office

(4) A discussion based on the weather
changes mentioned in a book

35. A teacher provides some criteria to
stufients and asks them to assess their
projects on those bases. Which one of
the following assessment measures has
been adopted by the teacher?

(1) Formative assessment
(2) Peer assessment
(3) Self-assessment
(4) Summative assessment
36. What is the nomenclature change

suggested by the National Curriculum
Framework (NCF), 2005 for Civics?

(1) Geography
(2) History
(3) Social and Political Life
(4) Economics
37. Which value will you emphasize the

least in the upper primary Social
Science classroom from among the

following?
(1) Cooperation
(2) Competitiveness
(3) Scientific approach
(4) Equality

38. What is the purpose of summative
assessment of students?
(1) Assessing at the end of term

(2) Assessing during the class

(3) Assessing a project
(4) Assessing at the end of a lesson

P-II/M
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36.

R?
(1) w@eﬂﬂammﬁaﬁmaﬁmm
(2) T A # e T A iR & dew 8 A

el yfEdHl 9 AIETEhR
¥ sfeafa atFs W snufa e
e

(4) Q%Wﬁﬁf\@“mﬂg‘imm
S irciesiicacl

# 3B AFds 0 § 3R
urf otef afEsm

R A Al § g e
w7 (To Ho Tho), 2005  F&wE Hl 1

gaa fem &7

(1) ¥
(2) 3fae™
(3) w3 Tewhifaes S

(4) e

frafafad § ¥ 3= Multe ®R R FHIRE
frgm ¥ wa-wa § g B T W AR T
oo a7

(1) F&am

(2) wieEfrareseRa

(3) AP g

(4) "\

38, Rt % Hehere ST T Iewd 1 87
(1) G % WHTH B T ATHEH
(2) & % S ATHEH
(3) TREISH I ATREH
(4) T8 F A H HH

37.
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39. Suppose a teacher has to teach the
chapter, ‘The Cold Desert—Ladakh’ in
Class VII. Which one of the following
methods would be most appropriate?

(1) Workshop method
(2) Survey method
(3) Case study method
(4) Regional method
40. Which one of the following methods
Is most relevant for the teaching of
historical facts/historiography at the
upper primary level?
(1) Map method
(2) Project method
(3) Problem-solving method
(4) Source method

41. The National Curriculum Framework

(NCF), 2005 recommends that
children’s school education must be
linked with

(1) the annual examinations
(2) the outside school environment
(3) the mainstream opinions

(4) the conditions of the
infrastructure

school

42. On which of the following choices is
the data best represented by a bar

diagram?
(1) Air pressure
(2) Temperature
(3) Rainfall
(4) Humidity
43. In order to develop an understanding

of democratic institutions, choose the

most appropriate curricular approach

from the following.

(1) Provide examples of realities along
with ideal situation

(2) Describe ideal situations

(3) Provide mainly national level
examples

(4) Introduce students to harsh
realities

P-II/M
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" 2005 F TR ® BHH“ =i H
St ol § @ Bras ary g e’

(1) =i gdigm
(2) T % = S
(3) FEuw F fear
(4) Toremera i smERsE wCEAT
42, fafafas § @ R fasea =1 gve M@ g1
el =8 alF | qw S wHAT 27
(1) e
(2) T9HE
(3) =i
(4) @E

43, drwaite wenell f wHg ) TERe F0
o fefafes & @ oot SR yeTmy det)

9P i G|

(1) arafes et & @ smed Rl ¥
SRTEWN 1 e Al

(2) eyt feufemt =i awia

(3) T ¥ A gkl e N R HA
(4) foerfEl R wER ot R QA
aRfa @
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44. In which one of the following
languages, mathematician and
astronomer, Aryabhata wrote his book,

Aryabhatiyam?
(1) Prakrit
(2) Hindi

(3) Pali

(4) Sanskrit

45. Which one of the following Stupas is
marked as the place where the Buddha
preached his first message?

(1) Bodh Gaya
(2) Sarnath
(8) Sanchi

(4) Thotlakonda

46. Which were the three dynasties
referred to as ‘Muvendar’ in Sangam
poems?

(1) The Cheras, the Palas and the
Rashtrakutas

(2) The Cholas, the Rashtrakutas and
the Pandyas

(3) The Palas, the Cholas and the
Pandyas

(4) The Cholas, the Cheras and the
Pandyas

47. The Rampurwa bull, a polished stone
sculpture, now placed in Rashtrapati
Bhawan, was built during the reign of
which one of the following?

(1) The Pandyas
(2) The Mauryas
(3) The Cholas

(4) The Kushanas

P-1I/M
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44. TET du @euE] SAEswe 3 ey

TF JEE  etdtga et #o@ feem
fereht oA1?

(1) Wrehd
(2) T
(3) urefl
(4) @&Fd
45. Frafafad el § ¥ fra oF A 39 ©E F w9
3 fafia fFn T 2, <=l g8 ¥ TEel AR IRW
R a?
(1) e
(2) |
(3) ==
(4) eheATRET
46. T el § B R TeEEm w PEE
el T RY
(1) =R, et TERe
(2) =<, TFRE, WS
(3) U, =, 9IS
(4) =, =R, 9
47, TageE B firen IcFE difem a9 TR WS
Hie, @ 3@ wgaf wa § @ T R, 7 R
forEeh TR § SR TR e
(1) dr==
(2) W
(3) =hw
(4) ™
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48. Who among the following propounded
the doctrine of ‘Vishishtadvaita’?

(1) Allama Prabhu
(2) Shankara
(3) Ramanuja
(4) Basavanna

49. An archive is a place where

(1) remains of the buildings made of
stone and  bricks found by
archaeologists are kept

(2) sculptures found in excavations are
kept

(3) historical manuscripts
documents are kept

(4) excavated bones of animals and
birds are kept

and

50. Which one of the following statements
is correct about the Veerashaiva
Movement initiated during the
mid-twelfth century in Karnataka?

(1) It argued against Brahmanical
ideas about caste and treatment of
women.

(2) It was initiated by Namdev and his
companions.
(3) It focused on worship of Vitthala.

(4) It was against all forms of ritualism
but promoted idol worship.

51. Consider the following two statements
A and B about ‘Bandagan’ in the early
Delhi Sultanate and choose the correct

answer :

A. ‘Bandagan’ were special slaves

purchased for military service and

were trained with great care to hold

the most important political offices

in the kingdom.

B. ‘Bandagan’ were totally dependent

upon their masters. So the Sultans

could not trust and rely upon
them.

(1) A is true and B is false

(2) A is false and B is true
(3) Both A and B are true

(4) Both A and B are false

P-II/M

48. ‘W’*Wﬁgﬁﬁwmﬁ

wege fean?

(1) g™ 94

(2) ¥

(3) THFS

(4) =EaT

. sifrrar a8 T 8, T .
” (1) Wmmmmtﬁm?ﬁa

o gt % SR B T S S

X m%nwmﬁwwlm
> m%mﬁﬁmmﬂ:ﬁﬁ%ﬁ-m
w w8 =7
(1) a1 oiv T 9 oAEeR T A
STt R ¥ feg e
() 7= A sht I ERE TW e
oIl
(3) T e A oon W = fam
(4) 7= Th TR F Fiws F AU A, T
Hfgst i FerEn fe

51. R 9 omfiE woad & gmd § S % SR
¥ fefafag < w1 A 3R B W =R i
T &) I H1 TG HIT
A ‘T fRw Em 3, &R s dW F
fou wlier S o iR 3R TS % S ga A
TR ToHIas Tal | EH w6 T
¥ gragH ¥ vifia R s e

B. ‘sEnl il @ 3 wiwel W fl B 9,
FET gea 37 W T @ a3
A A A W R A wwd AY

(1) A9 3R B 7w @
(2) ATdA § 3R B ¥ R
(3) A 3R B3N wd ¥

(4) A 3R B 3 e ©
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(1) Xuan Zang
(2) Vasco dg Gamag

(3) Christopher Columbysg
(4) Fa Xian

| script in its inscriptiong?
(1) The Kushanag

(2) The Cholas

(3) The Cheras

(4) The Pandyas
54. The Revolt of Son
took place becay

(1) the peasants in
revolted against the ind

8ram Sangma in 1906
se

Champaran
igo planters

(2) the Muslim traders in Bengal rose

against the unequal terms of trade
set by the British

(3) the Patidar peasants of Gujarat
rebelled against the high land
revenue demand of the British

(4) the tribal groups in Assam reacted
against the colonial forest laws

55. The Simon Commission, sent by the
British to India in 1927, was opposed

because

(1) it had only English educated Indian
representatives

(2) it had no Indian representative on
it
i i resen-
(3) it had very few Indian repres
tatives as compared to the British

Indian woman

(4) it had no
representative
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sz.sqm%ﬁﬁ%%aﬁmmmmwﬁ%
%Qqﬁ%qﬁsmwwmﬁam
=+ IR R

(1) 3 sm

(2) IRt g T

(3) T Fre=rm

(4) =1 fsrm ‘

53. fFfafaa teEmt § 4 e o afieE §
HerETe W Ta fafy & g awew TR

(1) Fom
(2) =@
(3) =

(4) drsA

54. 1906 & 3T Fm™ T % TRk 1 W o

(1) fa F Irm-wfeet % fes =awwr ®
fopamt A Tl femem

2) st g Pulfm =mr & owmw
() T ¥ Ree wma ¥ gfew

FaTiEt w33 ST B

(3) o™ A TR TR W RN T AN
T 9 o % Raems ke

(4) s F i W@ s fRn
SRR o FE = R

55. fafew TR 3 9 1927 ¥ Wia § ST ewpEd
¥ o wHEE O, e R TR mn,
Hifeh

(1) 390 Faa N ve-for@ st wiatiem
%l e TSR T o

(2) 79 3T A g W wfeff T e

G) T sdm § s B R W
yhafiftet 6t e 7 % s At

(4) 3o F off vl wfden wioRi = R
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56, feffan % TE S T

56. Match the following :

Movement/ Reformer igrer [HTSA 5 ;
Organization @) T e
(@) F&EN WA "
(@) Brahmo Samayj () Swami Vivekananda (b) T e AREA (i) foaz HEwe @ .
(b) Young Bengal (i) Sayyid Ahmad Khan - (i) &0 gt 0
Movement (c) THFE = T
(c) Ramakrishna (d) IS 2 o

(iii) Henry Louis Vivian
Mission Derozio d

(d) Aligarh Movement (iv) Keshab Chandra iv iii i

Sen
(1) a b c d w ii
i iv @ i
- @ a b c d
I i
1V 111 1 11
B3 a b ¢ d (4 a 8
T ot
4 a b ¢ d

a b c d
v i

BB o 57. wigg mdEE o 9@ gy e
ii i iv il = Q ey e ¥ e E 1952 ¥ Y@
57. Veteran  Gandhian leader  Potti TS W 437
Sriramulu went on hunger strike in SreT
1952, demanding the formation of (1)
which of the following States? (2) dfrerTg
(1) Telangana 3) ¥
(2) Tamil Nadu ,
(4) 37" weM

(3) Kerala

(4) Andhra Pradesh 58. FEEA-U-JI7 Aiq @l uni gﬁm‘:ﬁ TE F

58. Who among the following was femaet 70 @ = A7
an exponent of the notion of T e
Wahdat-i-deen that upholds the (1)
essential oneness of all religions? (2) g et TS

(2) Muhammad Ali Jinnah
(3) Maulana Azad
(4) Sayyid Ahmad Khan

(4) A== e Gl

59. W & T HET W A Do oA a1 W@

59. The main latitude that passes almost HE R
halfway through India is (1) e T
(1) the Arctic Circle
2 %
(2) the Equator &) R A“agaqa“)
(3) the Tropic of Capricarn (3) THRE (W)
(4) the Tropic of Cancer (4) Fhw@ (F%-99)
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60. Which one of the following defines

‘Earth Day?

(1) The days on which the days and
nights are equal all over the earth

(2) The motion of the earth around the
sun in its orbit

(3) The distances  between  the
longitudes

(4] The period of one rotation of the
earth around its axis

61. Match the following :
Types of Vegetation Species of
Plants
(@) Tropical rain forest (1) Sundari

() Tropical deciduous forest  (i1) Babool

() Thorny bushes (i) Mahogany
(d) Mangrove forest (iv) Sal
(1) a b c d
iv i i i
(2 a b c d
- iv il i
(3) a b c d
i il i iv
(4 a b c d
i 1 iv i

’

62. India’s research stations named ‘Maitri
and ‘Dakshin Gangotri’ are located in
which one of the following continents?
(1) Europe
(2) Australia
(3) Africa
(4) Antarctica

63. Consider the following two statements

A and B about ocean currents and
choose the correct answer :

A. The warm ocean currents originate
near the Equator and move
towards the Poles.

B. The cold ocean currents carry
water from lower latitudes to higher

latitudes.
(1) Both A and B are false
(2) A is true and B is false
(3) Both A and B are true
(4) A is false and B is true
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60.

61.

62.

63.

[afertre A ad- ) el R’ 0 afonen R
(1) A1 R eyl el u et A
@ R
(2) yed ) mly o ard e a0
wel Q
(3) e & aw Ll |
(4) el WA A HL Uk A Ee
RURIER
frrferfaa ¥ ) A s
weafy % WET wut ok arfoaf
(@) wrwRadi and @1 (i) el
(b) Iwrwfeadia vawsg @4 (i) 99T

(€) wAE wifgal (i) weTh
(d) g a9 (iv) drd
(1) a b c d

iv iii i i
(2) a b c d

iii iv i i
3 a b c d

i ii iii iv
4 a b c d

il i iv iii
AR’ 3 efiror TR e va F Y ERE
frfafaa Tt & | el R €7

(1) T

(2) erefern

(3) sk

(4) IFeThfea

TRETRE grielt % wEy § R e AN

Fl A 3R B R R e aun @ 3w w1

W?ﬁﬁ‘l:

A Fw () wemEtE uwd e %
e 3r@ At € o yat R el
Bl &1

B. ¥ (3vd)) wermrriE urd = s @
IH AT B T o Tl &

(1) A 3R B 3! Ted §

(2) A¥& ? M B 7o ®

(3) A 3R B 3H wE &

(4) ATea @ 3R B 98 ?
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64. "Transhumance’ refers to

(1) urban to rural migration of labour
force during harvesting period
seasonal movement of people for
their livelihood

seasonal movement of people with
their livestock in search of new
pastures

seasonal movement of wild animals

(2)

3)

(4)
65. Match the following :

Examples
(if Limestone
(ii) Sandstone
(iii) Basalt

(iv) Granite

Types of Rocks
(a) Intrusive igneous rocks
(b) Extrusive igneous rocks
(c) Sedimentary rocks
(d) Metamorphic rocks

(1) a b c d
ii iv i ii
(20 a b c d
iv iii ii i
3) a b c d
i ii iii iv
4) a b c d

ii i iv iii

66. ‘Chinook’, a local wind, blows in which
of the following regions?
(1) The Pampas
(2) The Velds
(3) The Prairies
(4) The Savannas
67. Which one of the following atmospheric
layers helps in radio transmission?
(1) Thermosphere
(2) Stratosphere
(3) Troposphere
(4) Mesosphere
68. Which one of the following is a variety
of ‘gold wrought™?
(1) Jute
(2) Silk
(3) Cotton

(4) Nylon
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g’ & ST
64. ﬁtg;:{m@ mﬁ%irm JaEtE
(1) mgyﬁatﬁ A gEE
(3)aammﬁ“'ﬁ@ﬁﬁy@mm%m
ss.ﬁﬁ%@ﬁ%ﬁ?ﬁ%ﬂ”s‘
ISR
freit 3 TEF
o smid et U i
(b) et i A (if) =G T
(o) a9 (1) FE
@ it A (iv) TR
@ a b ©° ¢
oo iv i u
@ a b ¢ ¢
iv iii ii 1
@ a b ¢ ¢
T B\
@ a b ¢ ¢
i i v il

66. Frrfaa &t & @ feel FEg T T
erdt 27
(1) w=TE
(2) acS
3) Y=l
(4) @aw
Tt § ¥ BE-H o el e A
FETd A 87
(1) STRHUSH
(2) HHATIHUSH
(3) &hmTEA
(4) wEEwUEA

68. ‘gl i Freffian § & Fradh w fre 17

(1) SE
(2) e

(3) &fi-=a

(4) TEAA

67.



71. ‘Basket weaving’

69. Population density referg to
(1) the way in which
across the earth’
(2) the number of
unit area of the
(3) the number of
particular areg
(4) the number of
a specific time

people are Spread
b surfac(:

people living in 4
earth’y Surface
people living in 4

People living during

minerals lying near

the surface of the earth?

(1) Shaft mining

(2) Open-cast mining
(3) Quarrying

(4) Drilling

is an €xample of

which one of the following types of

69. FAHE TAed § Afaug R
(1) 4-98 9 &l % %er 1 w=Ed

PREERER R ERECEICEY)

(3) Freft A fadna & @ A T R dE
(4) v fafrea srafu & @ @il 6 @@
70. yefi 1 war ¥ e fom afsl = aw

frpren % fom foafafas 3 @ fe Rl
s f e 27

(1) F =
(2) forga @
(3) #mET
(4) FTF

71. sm ¥ frefafan v § @ TR0 gAE
fermen U IeTET R7

(1) Large scale ) A
(2) Cooperative sector (2) w4
(3) Small scale (3) =1 SR
(4) Joint sector (4) W &

72. Which one of the following statements | 72, rrard % var # frerfrfiaa Fort 3 2 A-a

about monarchy is incorrect?

(1) Th TF T R7
€ monarch d

explain the de;:fon:mta};:,e ;; (1) a=mmg g fere o ol @ ammmR =
him/her. THFW 31 H ATawEEHal & Ad B

(2) In a monarchy, people can raise (2) TR 4 qEmme s e T fel w
questions about the decisions WM 9 33T T B

b :
taken by the monarch (3)mﬁmmﬁmﬂqﬁuﬁ’lﬂ'{

(3) In a monarchy,- people cannot Fﬁﬂﬁﬂ?’é’fﬁﬁﬁ%|

question the decisions taken by the .

monarch. (4) 3Iﬁﬂ ﬁ“ﬁq ?ﬁl —Cﬁ QTFVE GISIMIE ﬁ ﬁ%ﬁ
(4) The final decision-making power At B

lies with the monarch.

73. T TS 9N 9ty Frafefigs 3Rt 3 @ fg w
73. On which one of the following rivers is T T R7

Krishna Raja Sagar Dam constructed?

(1) Kaveri (1) =
(2) Mahanadi (2) wer
(3) Godavari (3) Terery
(4) Krishna (4) Fom
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74. The Hindu Succession Amendment

75.

76.

77.

Act, 2005 provides an equal share in
the deceased father’s property to

(1) wife, daughter(s) and sister(s)

(2) daughter(s), son(s) and brother(s)
(3) wife, son(s) and daughter(s)

(4) wife, son(s) and brother(s)

Who among the following national
leaders coined the phrase ‘Unity in
Diversity’ to describe the Indian
Nation-State?

(1) Bal Gangadhar Tilak

(2) Mahatma Gandhi

(3) Sardar Vallabhbhai Patel

(4) Pandit Jawaharla] Nehru

Consider the following two statements
A and B about the functions of
Janapad Panchayat and choose the
correct answer :

A. The Janapad Panchayat makes
developmental plans at district
level.

B. The Janapad Panchayat helps
Zila Parishad to regulate money
distribution among Gram
Panchayats.

(1) Both A and B are false

(2) A is true and B is false

(3) A is false and B is true

(4) Both A and B are true

Consider the following two statements

A and B on the Right to Information

(RTI) Act and choose the correct

answer :

A. Through the RTI Act, a citizen can
get information pertaining to the
working of the departments of the
Central Government only.

B. To get information under the Right
to Information Act, a citizen has to
first file a petition in any court of
any level.

(1) Both A and B are false

(2) A is true and B is false
(3) A is false and B is true
(4) Both A and B are true
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74.

75.

76.

77.

saofusR @Eea AfufEE, 2005 g
E?ﬁ graf § GHF ATUFR FEH I
(1) wel, o /9Pt e W/ng:ﬁ ﬁy
(2) wh/gf, T/FH a0 m"s/wzsm £
(3) W, T4/ TA 7 aﬁ/‘zﬁﬂ &
(4) TR, gA/gAI TR L/ HTE el

i w3 ¥ oy, “Fafae &

x £l
A T e et 8 2 o fe?

A g T

(1) mwirnmm

(2) TeETe M

(3)%3’@”‘7@%

(4) uffEa TR AEE

T Yama ¥ wE ¥ fwg § Fefafad @

FoAl A 3iR B W fomm AT a1 @l IR

=77 HIf

A AR deEa faen ww W fawE deEd
fruifa =t 71

B. Ww,mmﬁ%qwmm
frafi ) # foren wieeg 1 wErm Fdt
Bl

(1) A 3fr B2 Tem &

(2) ATé ¢t ¥ B Ted @

(3) AT & 3R B WA §

(4) A 3R B 3H! @& &

o # Afusr afufem w fofafag @
FE A 3 B W fomm A qu a8 3 =
Wsﬁﬁm:

A. g F AR wfufem & moem 3 w3
# T Faw I TR F Rl f
HEYOTeR % Heof & I W N Hea 2

B. oM 1 stfuen sifufrem % srmwta ge
T FA & T amies = B w3 fredt
?mﬁmwﬁwarﬁaawm

|

(1) A 3R B 2 Tom &

(2) AWE R 3R B e 2

(3) AT 3w B wd 3

(4) A3 B3 v 3



78. Who among the following was the

writer of the story, Sultana’s Dream?
(1) Panditg Ramabaj

(2) Rokeya Sakhawat Hussain
(3) Mumtaz A)j

(4) Rashsundari Devi

79. Who among the

book, Gulamgiri?
(1) Dr. B. R, Ambedkar

(2) E. V. Ramasamy Periyar
(3) Jyotirao Phule

following wrote the

(4) Shri Narayan Gury

80. In the context of Indian Jjudiciary,

appellate system means

(1) that one can plead one’s case in the
court without having a degree in
law

(2) separation of power among the

legislature, executive and Jjudiciary

the decisions made by the higher

courts are binding on the lower
courts

(3)

(4) one can move to a higher court if

one feels that the judgement of the
lower court is not just

81. The executive organ of the State refers

to

(1)

every citizen of the country
exercising universal adult franchise

the elected representatives

a group of people responsible for
implementing laws and running the
government

the judges of the Supreme Court
and High Courts

82. Article 22 of the Constitution ensures

(1) Right not to be ill-treated during
arrest or while in custody

(2) Right to Constitutional Remedies
(3) Right against Exploitation

(4) Right to Education
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79.

80.

78. GeAHT F @ THF FEH B Afaw T J

H fi?

(1) ufoEen TamTg

(2) & ErEd ghe

(3) g St

(4) TEgel T

e A gee 3T @ e Tt
(1) o dfio 3o ITFIEH

(2) $o oo THTETH YA

(3) T B

(4) R A TR

il =R e ¥ wed @ i
SRy F1 AY ?

(1) 3§ 3 e w, form et hrht fsh
%, AT § 9T W Ewd

(2) Rrufem, sEufrR ot Al %
<= wiwal &1 deam

(3) Sl srarer & %o, Frech swEmed
LIEERGER

(4) e = R o Ymn @ @ fE T
aered s R e Fwen @@ A R, Q@
I8 3G9 SHW F e W I H Al

?

81. TR ¥ HETNAH 371 ¥ A ®

(1) 3 A TIF AME, AN ==
TR 1 ITEN el

(2) Faita vy

(3) T 1 R, S HEA R N B AR
TEA I F fore, Sorerh @

(4) = ERE G 3= AEeEl %
IR IBIN

82. HiauH H g 22 ghfTE wta ?

(1) frewrdl & @nm o ferwa § gdamm R
T H AlER

(2) Hawte IR F fEn
(3) wiww % foeg StfermR
(4) e =1 it
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83. Who among the following is the leader
of the ruling party in Lok Sabha?

(1) The Vice President
(2) The President
(3) The Prime Minister
(4) The Speaker

84. Consider the statements A, Band C on
the nature of Social Science at the

upper primary stage :
A. It is a study of people in their
environment.

It is a study of relations among
people and their interdependence.
It is a study of the past and its
relation to the present.

Select the most appropriate choice
from the above statements.

(1) A, Band C

B.

C.

(2) A and B
(3) B and C
(4) A and C
85. Social and Political Life textbooks at
the wupper primary level cover
content related to which of the

following subjects?

(1) International Relations
(2) Psychology

(3) Economics

(4) Philosophy

86. Why would you ask questions on
the

historical imagination? Choose

most appropriate option from the

following.

(1) It is fun-way to remember dates
and events.

(2) It shows how historians fill gaps in
history with their imagination.

(3) It encourages comparison of the
present with the past.

g3, < @ # wA <@ F A FH G

Bra1 87

(1) 39-TgA
(2) Tgafd
(3) wuTEE
(4) seAd

T e % T8 W
84, 3= WufHE T X '
A,Baﬁlcmqtﬁaﬂa%’rﬁmz

A mea?ﬁaﬁwaw%\

AT R 3
C'%mmm%muwaﬁm

HeE B
Wa@ﬁamsﬁammw

Hfwu)

(1) A, B3R C
(2) A3 B
(8) B3R C
4) AR C

85. 3= YUfF SR W YIS T8 TSHias Siad
%W—Wﬁﬁﬂ%@ﬁﬁﬂﬁﬁ%%ﬂ@

Haifta T wfffad 87

(1) =RIgE day

(2) TAEIE

(3)

(4) ST

86. 3 UdEsh HeqN W W & q@?

frferiaa # @ v 3fua fasen =1 i

(1) =8 fafy 3R w=eetl =) O @ =1 =%
EIRS

(2) ¥ <wmar ? T 3R shem § s
FTT & T FY AR B G H B

(3) ¥ TOHH 1 I ® WE gE FQ A
TeaTted T B
(4) T3 A H TR ¥ Rl 6 dvea

(4) It evaluates a student’s ability to

identify sources.
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7. Why would
8 ! 1y you use Narratives i | \
oo n Social 87. wmiisi foamm foigu & foaw 1w gam @l =i

. Ch
appropriate reason fr?)onsle the most i FM? &Gy o fawedi ¥ A waw 3t=d wEW
options, the given =1 gRu|
(1) To e
Compler::gre that  syllabys g (1) die=rsha R quian i ghiTea
(2) To sensitiz (2) Toanfil =1 deeie = W% fSEe 3
can find © Students so that they 3faa TeE @l IaT F HH
a5 T appropriate role models
(3) To entertain and enliven g class (3) F471 H HASTH T T S A
(4) To li y
nk concepts to live realities (4) Faumomad # Gl SRAEERA 5 WY
88. According to the N ST &

(2006), the teaCh-Natxonal Focus Group

losing -11ng of Social Science is * TR
g Popularity gg 88. WYY amur W (2006) ;@r{%

forgm = fm SR SRR @@ R, i

(1) it presents Several situations of

(2) it lays too much emphasis upon ‘ !

scientific temperament 4 PIEEERIEE EElEED ?ﬁm TR <R
(3) it is considered as ilitari

subject a non-utilitarian (3) & TH AFM forwa 3 w9 & ST S §

(4) TR FE fawdl % g ) Wedred FE R

(4) it eéncourages man

study Y subjects of

89. fi=fafiaa § A s-w faseq Toenem-2maTia

89. Which one of the given choices is an

incorrect description of school-based N bl

assessment? (1) & Faat germd uel ) witfaa w R
(1) It covers only co-curricular aspects. (2) 7% dfees vall = wfmfaa wa R)

(2) It covers scholastic aspects. (3) T’ M-dfw &} =1 gt S Bl

(3) It covers non-scholastic aspects.

(4) ¥% Tt waft  wiEfaa F R)

(4) It covers all aspects. *

90. Consider the following two statements 90. w frer 1 W famm F

A and B on a teacher’s role in T @ fie W FEfafed A B weE @
transacting a Social Science topic and foem TS qen W IW 1 =1 HNT
lect th t :
:e "‘;h © °°r;ec a“SW‘:r . A foem wh frafiE A e B s
. e teacher must ensure e gﬁﬁa #! 3 geesied ¥ Ty == |
dignity of all students and conduct & H|

discussions with sensitivity.

B. The teacher must focus upon facts

B. fias die & Wy qel v wefwa

with the boys and the feelings of TIETAT T 7Y o S |
the girls. (1) AN AMIEB
i B
(1) Neither A nor 2) A
(2) Only A a) N
(3) Only B
(4) 21 A 3B

(4) Both A and B
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PART—IV
Language"‘I
ENGLISH

rt—"w (Q- Nos.

Pa
: from
ns
IMPORTANT : Candidates should attempt que=:‘g‘; 1 only.-
91-120), if they have opted ENGLISH as Langu

tress on
ch lays S

1 appro#
uctura

94, Str
. C
Jecti the improving fluency

(Q. Nos. 91 to 105) by selecting 1) i

Directions : Answer the following questions

. y uracy
correct/most appropriate options. ping acc

(2) develo linguistic competence
i mn
91. Which one of the following is not true (3) developiné d gradation of
about the status of English language 4) s election  an
across the world? materials
. . e
(1) English as a heritage languag 2d means

. Learning to T¢
(2) English as a native language 95

(1) reading aloud

(3) English as a foreign language oding letters of alphabet into

(@) decod:
(4) English as a second language sounds f
(3) decoding the structure of a
language
. d d their ‘ )
> r’I;ll?;;mifsltgidi};‘s kcr)lfow: O;ss = (4) decoding the meaning

(1) linguistics 96. The National Curriculum Framework,

2005 advocates that a language

(2) semantics legrner is a

(3) phonetics (1) user of grammatical rules
(4) syntax (2) constructor of knowledge/
language

(3) receiver of language
93. A good language textbook should

include (4) producer of language
(1) extracts from British and . . . :
American literature AT Contrastive pairing 1s used for
teaching-learning of
(2) more grammar exercises (1) writing
(3) interesting stories (2) speaking
(4) attractive fonts, illustrations and (8 pronunciation

learner-friendly texts (4) reading
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98.

99.

100.

101.

T

Functional grammar referg to
1) 1 i :
(1) learning grammar in isolation
(2) learnin >
contcextg grammar in a given
(3) learning
118 grammar by knowi
tech 2 wing the
echnicalities of language
(4) learning
grammar
rules of 1anguage through the
‘Rol & i
ole play’ is an activity for promoting
(1) writing
(2) speaking and listening
(3) assessment
(4) listening
‘Brainstorming’ technique is useful for
(1) improving students’ spontaneous
sensitivity
(2) developing learners’ vocabulary
(3) overcoming the problems of
spelling
(4) helping students in forming
new sentences
Lata, an English language teacher of

Class VII, divides the class into pairs
to read a sequence of pictures and
then describe it to each other. What is
this activity pedagogically known as?
(1) Assignment
(2) Group work

(3) Teacher-facilitated reading

102. Extensive reading is

(1) reading for information
(2) reading the text for pleasure

(3) reading to know the meaning of
every word

(4) reading to extrapolate and

critique

103. Pre-reading activity is meant for

(1) teaching the grammatical items
given in the text

(2) connecting previous knowledge
and taking the learner into the
text

(3) connecting the whole class with
one another

(4) giving information about the writer
of the text

104. While teaching a prose text, which one
of the following activities a teacher
must undertake?

(1) Paraphrasing the text
(2) Transcription

(3) Creating a sub-text

(4) Consulting a dictionary

a language component?
(1) Sound system
(2) Manuscript

(3)

Grammar

(4) Peer, interaction

P-II/M
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T O [ R A e, kil sl i T —

Directions : Read the passage given
below and answer the questions that
follow (Q. Nos. 106 to 114) by selecting
the correct/most appropriate options.

When the sun had descended on the other
side of the narrow strip of land, and a day of
sunshine was followed by a night without
twilight, the new lighthouse keeper was in
his place evidently, for the lighthouse was
casting its bright rays on the water as usual.
The night was perfectly calm, silent, genuinely
tropical, filled with a transparent haze,
forming around the moon a great coloured
rainbow with soft, unbroken edges; the sea

was moving only because the tide raised it.

The keeper on the balcony seemed from
below like a small black point. He tried to
collect his thoughts and take in his new
position; but his mind was under too much
pressure to move with regularity. He felt
somewhat as a hunted beast feels when at
last it has found refuge from pursuit on some
inaccessible rock or in a cave. Now on that
rock he can simply laugh at his previous
wanderings, his misfortunes and failures.
He was in truth like a ship whose masts,
ropes and sails had been broken and rent by
a tempest, and might have been cast to the
bottom of the sea, a ship on which the

tempest had hurled waves and spat foam,

The pictures of that storm passed quickly

through his mind as he compared it with
ro

the calm future now pbeginning. Part of his

wonderful adventures he had related to

Mr. Shyam when he was interviewed for the
r.

job of the keeper; he had not mentioned,

however, thousands of other incidents. It had

been his misfortune that as often as he

pitched his tent and fixed his fireplace to

settle down permanently, some wind tore out

the stakes of his tent, whirled away the fire,

and bore him on towards destruction.

Looking now from the balcony of the tower
at the illuminated waves, he remembered
everything through which he had passed.
He had campaigned in the four parts of the
world, and in wandering had tried almost

every occupation.

106. The water around the lighthouse got
lit up because

(1) the sun had set

(2) the lighthouse was casting its
bright rays

(3) the night was in the twilight zone

but which still wound its way to the harbour.

P-1I/M

(4) the keeper had started his job
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107.

108.

109.

110.

(1) Rays from the lighthouse
(2) Tropical climate
(3) Rising sea tide

(4) Transparent hage

The lighthouse Kk
€eper’s min
from pressure, because d was free

(1)

there were

onl
the top y 400 steps to

(2) he no longer fejt 1
beast ger lelt like a hunted

(3) his job was quite easy

(4) there was
movements

regularity in his

The ship of his life was hit by a storm

(1)

and it went down to the bottom of
the sea

(2) yetitreached the harbour safely

(3) and it reached the port in a
damaged condition

(4) yet it kept on sailing on the sea

“He was in truth like a ship.”

The figure of speech used in the above
sentence is

(1) a hyperbole
(2) a simile
(3) a metaphor

(4) personification

P-II/Mm
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111.

112.

113.

114.

«

.. a day of sunshine was followed by
a night ... .”

When the voice in the above sentence
is changed, it becomes

(1) A night followed the sunny day.
(2) The night follows the sunny day.

(3) A night is followed by a day of

sunshine.

(4) A night followed a day of

sunshine.
The antonym of ‘narrow’ is
(1) wide
(2) broad
(3) deep

(4) steep

”

“The night was perfectly calm.

The word ‘perfectly’ is a/an

(1) adverb
(2) noun
(3) verb

(4) adjective

The word ‘illuminated’ means
(1) calm

(2) lighted up
(3) decorated
(4) tossed up

[ P.T.O.



Directions Read the extract given

below and answer the questions that
follow (Q. Nos. 115 to 120) by selecting
the correct/most appropriate options.

Dark house, by which once more I stand

Here in the long unlovely street,
Doors, where my heart was used to beat

So quickly, waiting for a hand,

A hand that can be clasp’d no more—
Behold me, for 1 cannot sleep,

And like a guilty thing I creep (7)

At earliest morning to the door.

He is not here; but far away

The noise of life begins again,

And ghastly thro’ the drizzling rain

On the bald street breaks the blank day. (12)

115. The speaker is standing in front of

a/an
(1) graveyard
(2) open field

(3) dark road

(4) empty house

116. The poet
hold his

(1) body
(2) hand
(3) arm

(4) heart

p-1I/M

is waiting for someone to

s standing in the qanlovely

117. The poet i
street’
(1) to get rid of his fear

(2) to overcome his lonelin€ss

(3) to meet his friend
to experience the drizzling Ta1n

(4)

f life’ signifies

118. The phras€ ‘noise ©

daily routineé of life

(1)

(2) the sound of drizzling rain

(3) the poet’s friend while talking

(4) nature’s sympathy for the poet

119. The poetic device used in line 7 is

(1) a hyperbole
(2) onomatopoeia
3) a metaphor

(4) a simile

120. In line 12, the poetic device used is
(1) a metaphor
(2) alliteration
(3) an irony

(4) a simile
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PART—V
Language—II
ENGLISH
I—
IMPORTANT : Candidates should attempt questions from Part—V (Q. Nos.
121-150), if they have opted ENGLISH as Language—II only:
. f subj
Directions : Answer the following questions (3) using knOWICngi(; :he Cong:m
(Q. Nos. 121 to 135) by selecting the matter for lgues g nt
correct/most appropriate options. and vocabuiary
ra hrasing
121. A speech community refers to a group (4) parab
of people who also known as
. (0]
(1) share homogeneity with reference | 125- Diphthongs are &8
to their value system (1) vowels with weak sounds
o -
(2) are m.l-Jltllmgual (2) glide vowels
(3) are bilingual ' |
(4) share community membership (3) semi-vowe y
and linguistic communication (4) pure vowels
122. Activati ’
c vatlng learn.ers schema means. {96, Veasmin, an English language teacher,
(1) dealing with learners having gave her students group work tg
learning difficulties explore an area and asked them to
(2) showing a picture and asking find important notices and names of
learners to write a story places and streets to document them
(3) making a link between the to write a report.
topic and learners’ background This activity is known as
kn :
ovTrledge anc.i experience (1) peer il
(4) making a link between the .
textbook and its structural (2) project work
patterns and grammatical items (3) assignment
123. As per Noam Chomsky’s theory, the (4) activity-based learning
role of Language Acquisition Device
(LAD) is to 127. M . . .
(1) learn languages in formal schools 27. Mrudusmita, while tea_chmg a lesson
e on atoms from the science textbook,
(2) imitate the language of adults gave her students activities based
(3) generate grammar rules on the theme. The aCtiVities inCIUded
(4) memorize grammar miles vocat?ulary and debate on the uses of
atomic energy. What is this strategy
124. Prediction in terms of reading refers to known, as¥
(1) previewing (1) Language of science
(2) using prior know!edge of the (2) Language through science
subject and the ideas in the
text as clues to the meanings of (3) Language across curriculum
unknown words (4) Language in other subjects

P-1I/M
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8. While listening to a i i

125 ometimes weglistens€: el:::silg 1113 s
sound, a syllable and a word m}: o
sentence and then a para ’rt h
decode the_meaning of the gcoaph o
speeC_h- This mental proces i
described as S can be

(1) Interactive model

(2) Top-down approach
(3)
(4) Middle-path approach

Bottom-up approach

129. In free writing, a learner is engaged in

(1) listing out the things
just memorized B shejbis has
(2) writing with specific relation to

spelling and grammar

Writin'g sentences
applying her/his mind

(3)

without

expressing ideas without giving
much attention to spelling and
grammar

(4)

Susheela discussed a short story in
the classroom and asked her students
to write an article for a newspaper on
the theme of the story. What is this
writing known as?

(1)
(2)
(3)
(4)

130.

Writing for a newspaper
Extrapolative writing
Long answer

Short essay

A question tag is also known as a

(1)
(2)
(3)

131.
critical question
head question

tail question

132. Mind-mapping helps the students to
each of the

learn passively
1irxguistic items

(1)

memorize the grammar rules

(2)

(3) use literary d'
in their writing

evices more effectively

brainstorm, explore any idea and

4 :
expand 1t

structures can be

133. Grammatical
ontrolled manner by

practised inac
(1) explaining the use of particular
structures

(2) gap-filling grammar exercises

correcting wrong sentences

(3)
written by the learners

(4) doing composition exercises

134. Interactive listening means listening

carefully to what 1is said and
responding

curiously to what is said

carefully for word stress and
intonation

to judge the speaker’s mood and
tone

(4)

135. Continuous and Comprehensive
Evaluation of learner is

(1)

continuous tests and assign-
ments

(2)
(3)

conducting continuous tests

periodi¢ assessment of learning

descriptive question

@)
P-Tl/M
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(4) periodic assessment of teaching
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Read the passage given | log these attributes, too, along with the

fo‘ilow and answer the questions that texture.

o oW (Q. Nos. 136 to 143) by selecting the
frect/most appropriate options.

Dir, €ctions

ised when th
136. People get surprise .
Peoples’ faces light up when 1 say I taste narrator tells them that he

chocolate for a living, but it is not always

(1) is a chocolate taster
delicious, |

also have to taste defective
chocolate, which might have a bitter or burnt
flavour. rm usually in a small room, not (3) has to eat bitter chocolate
allowed to talk, ang parked in front of
a computer to log information. Sometimes

the room has red lighting to disguise the ;. g fob &8
; is
appearance of the chocolate, so I can evaluate | 137. There is no glamour In ]

(2) has to work under red light

(4) has to work in a small room

it only by taste, not appearance. I can sample (1) he has to blow out short puffs

:Zer:zl;’ ::1;: chc?colates.per day, so as to (2) he keeps on spitting out chocolate
active, I spit the sweets back

out. That’s another not-so-glamorous part of (3) his place of work 1s narrow

the job. Between samples, [ wait 30 seconds

to let my senses rest, and I chew half an

unsalted cracker biscuit and drink plain

warm water, as carbonated water and ice
numb one’s senses.

(4) he never ate burnt chocolate

138. The narrator cannot eat and enjoy the
chocolate

(1) as it has not been stored properly
First I smell the chocolate and log its aroma.

I also listen : if chocolate doesn’t sound crisp
when broken, it may be a sign it’s old or was (3) to keep his palate active
improperly stored. Then I place one inch bit
in my mouth and leave it there for a
few seconds, I press it against my palate
and let it melt, recording the four basic

(2) as it is defective

(4) as it has a burnt flavour

139. The process of chocolate tasting runs
in the order of and again

tastes—sweet, sour, bitter and salty. Then I smelling.
blow out short puffs of air through my nose. (1) breaking, smelling, listening,
Certain sense receptors in the back of our melting

head are stimulated by oxygen. They allow (2) breaking, listening, smelling,
us to smell food when we chew. Exhaling melting

i like berry, . ; . .
sharply can bring fmt rpinas e Lo (3) smelling, breaking, listening,
mushroom, tea, citrus, beeswax, toast, melting
i on, and savoury spices that are ) . . _
cinnam (4) melting, listening, breaking,

smelling

sometimes too subtle for the nose to catch.
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140. “Leave it there ”

When the above ge

. . ntence jq
into passive voice ¢ Is
£==7IVe voice

, it becomeg

(1) Let it was left there

(2) It is left there.
(3) It'was left there,

(4) Let it be left there,

141. “Peoples’ faces light up ?
The word light’ here ig a/an

(1) adverb
(2) noun
(3) verb

(4) adjective

142. The word ‘parked’ (Para 1) means
(1) ran
(2) managed
(3) operated

(4) seated

143. The word ‘log’ (Para 2) means

(1) taste
(2) record
(3) cut

(4) enjoy

- PIy/m

Changeq

2

Directions : Read the passage given
below and answer the question§ that
follow (Q. Nos. 144 to 150) by selecting the
correct/most appropriate options.

The Kittur Fort

One can see today only the dilapidated walls
and ruins of the great fort which was once
known for its strength. The most important
landmark as one goes towards the fort is the
‘Bahadurgad’. Situated to the southwest of
the fort and outside of it, on a natural hillock,
the highest in the plain, the ‘Bahadurgad’,
which was the watchtower, provides a most
panoramic and commanding view of the
sparsely wooded surrounding region of green
grassland, fading, as if gradually, into soft
contoured hills in the west and the horizons
on the other sides. To the north of the tower
is ‘Ranagattikere’ where Rani Chennamma
fought her last stubborn fight against the
British, with almost savage determination.

The actual fort, circular in plan, consisted
of double walls, separated by moats on the
outer sides, with semi-circular bastions on
the exterior of the outer wall. It had originally
the main gateway on the east, approached by
the causeway across the outer moat known

as ane honda which was used for bathing the
elephants.

The entrances through the walls are
deliberately not aligned, evidently in the
interests of security. After passing by the
winding path through the walls, one is led to
the front side of the imposing main entrance

of the palace located near the northern arc of
the inner fort wall.

To the south of the palace, inside the fort, are
the ruins of horse-stables and foundations of
residential buildings, probably meant for the

55 [ P.T.O.



147. Unaligned gates in the walls

important officials of the palace. To the
e walls look imposing

SOl'JthWest is the heavily built watchtower (1) make th
relieved by a series of parallel buttresses at
regular intervals. (2) make the entry easy
‘ fort secure
144. Which one of the following statements (3) make the
is t .
rue ? (@) make the fort insecure

(1) Rani Chennamma ruled Kittur

»

from here.
148. “... as one goes towards ... -
(2) Bahadurgad is situated inside the tone’ in the above clause is a/an
Kittur Fort.
(1) adjective
(3) From it, one can enjoy a view of
the hills in the east. (2) noun
(4) It was used as a watchtower. (3) verb
(4) pronoun
145. Rani Chennamma fought against the
British _ ) .,
149. “.. and M view of ... .
(1) in Bahadurgad Fort ‘commanding’ in the above phrase is
a/an
(2) in the wooded grasslands
(1) adverb
(3) in the contoured hills
(2) noun
(4) at Ranagattikere (3) verb

(4) adjective

146. From Bahadurgad, one could easily

get
150. The word landmark’ means the same

(1) to see a natural hillock as

1 lain
(2) a commanding view of a dense R

forest (2) marker

(3) to see tall rugged hills in the west (3) adventure

(4) hill

(4) a look at green grasslands
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